#

	INJ#
	EC36pin
	FETdriver
	Mdh(on/off)
	 

	1
	7
	A(1)
	mdhb0/mdh30
	(4th)

	2
	19
	B(2)
	mdh80/mdh00
	(1st element)

	3
	8
	C(3)
	mdha0/mdh20
	(3rd)

	4
	20
	D(4)
	mdh90/mdh10
	(2nd)

	
	
	
	h[0]=2 8 4 1 0 0 0 0 
	


#

#tables

j[0]=6480 6480 6680 6980 6E80 7180 7180 7380 7380 7380 7380 7380

j[1]=6480 6480 6680 6980 6E80 7180 7180 7380 7380 7380 7380 7380

j[2]=6580 6780 6980 6F80 7580 7980 7A80 7980 7980 7980 7980 7980

j[3]=6C80 6E80 7280 7880 8380 8880 8680 8280 8280 8280 8280 8280

j[4]=7180 7580 7D80 8480 9180 9880 9880 9280 9280 9280 9280 9280

j[5]=8080 8680 8880 8D80 9B80 A480 A880 A180 A180 A180 A180 A180

j[6]=8580 8980 9080 9380 A880 B380 B980 B380 B380 B380 B380 B380

j[7]=8D80 9080 9780 9C80 AF80 B880 BF80 BE80 BE80 BE80 BE80 BE80

j[8]=9280 9580 9A80 A080 B080 BA80 C580 C280 C280 C280 C280 C280

j[9]=9280 9580 9A80 A080 B080 BA80 C580 C280 C280 C280 C280 C280

j[A]=9280 9580 9A80 A080 B080 BA80 C580 C280 C280 C280 C280 C280

j[B]=9280 9580 9A80 A080 B080 BA80 C580 C280 C280 C280 C280 C280

l[0]=3F 36 2D 2D 2D 2D 2D 2D 2D 2D 2D 2D

l[1]=3F 36 2D 2D 2D 2D 2D 2D 2D 2D 2D 2D

l[2]=39 34 31 31 31 31 31 31 31 31 31 31

l[3]=39 36 32 32 32 32 32 32 32 32 32 32

l[4]=39 39 39 39 39 39 39 39 39 39 39 39

l[5]=39 39 43 47 4F 4F 4F 4F 4F 4F 4F 4F

l[6]=44 44 4F 55 5A 5A 5A 5A 5A 5A 5A 5A

l[7]=66 66 66 66 66 66 66 66 66 66 66 66

l[8]=6B 6B 6B 6B 6B 6B 6B 6B 6B 6B 6B 6B

l[9]=6B 6B 6B 6B 6B 6B 6B 6B 6B 6B 6B 6B

l[A]=6B 6B 6B 6B 6B 6B 6B 6B 6B 6B 6B 6B

l[B]=6B 6B 6B 6B 6B 6B 6B 6B 6B 6B 6B 6B

n[0]=20 24 50 77 A0 B4 B4 B4 B4 B4 B4 B4

n[1]=20 24 50 77 A0 B4 B4 B4 B4 B4 B4 B4

n[2]=24 28 50 78 A0 B1 B2 B1 B1 B1 B1 B1

n[3]=50 50 50 77 99 AA AB A9 A9 A9 A9 A9

n[4]=50 50 50 76 95 A1 A2 A1 A1 A1 A1 A1

n[5]=50 50 50 75 8D 99 9B 9A 9

